
 

 

 

Width of central maximum: 
1. Angular width: 
The angle subtended between 1st secondary 
minima on either side of central maxima at 
center of slit is the angular width of central 
maxima. 

Angular width of central maxima,    𝜃 = 2𝜃ଵ 

𝜽 =
𝝀

𝒅
=

𝜷

𝑫
  

2. Linear width: 
The linear distance between 1st secondary 
minima on either side of central maxima is 
the linear width of central maxima. 
Linear width of central maxima, 𝐿 = 2𝑦ଵ 

𝑳 =
𝝀 𝑫

𝒅
= 𝜷  

 
 
 
 
 
 
 
 
 
 
 
 
 

Sum up: 
 For central maximum, 𝒑𝒂𝒕𝒉 𝒅𝒊𝒇𝒇𝒆𝒓𝒆𝒏𝒄𝒆 = 𝟎 and 𝒑𝒉𝒂𝒔𝒆 𝒅𝒊𝒇𝒇𝒆𝒓𝒆𝒏𝒄𝒆 = 𝟎. 

 Angular width of central maximum  =
𝝀
𝒅

= 𝜷
𝑫

 (in radians) 
 

 Linear width of central maximum   =
𝝀 𝑫

𝒅
= 𝜷 

Secondary minima:     Secondary maxima: 

Linear position: 𝒚𝒏 = (𝟐𝒏 − 𝟏) ×
𝝀 𝑫

𝟐 𝒅
 [𝒏 = 𝟏, 𝟐, 𝟑, … ]  Linear position: 𝒚𝒏 = 𝒏 

𝝀𝑫

𝟐𝒅
 

Fringe width, 𝜷 =
𝝀 𝑫

𝒅
   { for both bright and dark fringes} 


